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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–IV • EXAMINATION – SUMMER • 2015 

Subject Code: 345003 Date: 07-05-2015 
Subject Name: Structure - II 
Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks.  
4. English version is considered to be Authentic. 

Q.1 (a)  Fill in the blanks  
1. The ratio of stress to strain is called ------------- 
2. If the deformation in material disappears completely after removal of force 

is called -------------- material. 
3. Poisson’s ratio is the ratio of ---------- to____________. 
4. When a body is subjected to three mutually perpendicular stresses of equal 

intensity, the ratio of direct stress to the corresponding volumetric strain is 
known as _____________. 

5. Modulus of rigidity is the ratio of ____________ to_____________. 
6. In B.M. diagram, the point at which B.M. changes its sign from positive to 

negative or negative to positive is called __________. 
7. In simply supported beam with U.D.L shear force is the maximum at 

___________ &B.M. is the maximum at_____________ 

07 

 (b) A steel bar 20 mm in diameter and 4.0 mt. Long is subjected to an axial tensile 
load of 60 kN. The increase in length is 2.0 mm. Calculate the stress, strain and 
Young’s modulus. 

07 

Q.2 (a) (a) Draw the shear force and bending moment diagram for the following. 
(1) A cantilever beam of span ‘l ’ carrying u.d.l. w/unit run through the span. 
(2) A simply supported beam of span ‘l ’ and carry u.d.l w/unit run through the 
span. 

07 

 (b) Define the terms shear force & bending moment. Also explain about point of cotra 
flexure with neat sketch. 

07 

  OR  
 (b) Define the term bending stress & explain the theory of pure bending. 07 

Q.3 (a) Explain : 
(1) Long column (2) Short column (3) Crushing load (4) Buckling load 

08 

 (b) A column 5 mt. long with both ends fixed has hollow circular section of internal 
120 mm diameter and 10 mm thickness. Taking E= 2.1 × 105 N/mm2 . Find 
Euler’s buckling load. 

06 

  OR  
Q.3 (a) A reinforced concrete column is 400mmx400mm and is provided with 8bars of 

22mm diameter. Find the safe axial load on the column if the maximum stress in 
concrete is limited to 4N/mm2.TakeEs=18Ec. 

07 

 (b) A steel bar 50mm X 50mm in cross section is 1.2 meter long.It is subjected to an 
axial pull of 200 KN. What are the change in length, width & volume of the bar, if 
the value of Poisson’s ratio is 0.3 ? Take E as 2 X 105 MPa. 

07 

Q.4 (a) A timber beam of rectangular section supports a u.d.l.of 5.56 KN/m over a span of 
3.6 meter.If depth of the beam section is twice the width &  maximum bending 
stress is not to exceed 7 MPa , find the dimensions of the beam section. 

07 

 (b) Draw the sketches of four conditions of column and give the formula for crippling 
load for each condition. 

07 
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  OR  
Q. 4 (a) Write the equation for shearing stress at a section in a loaded beam. Draw the 

shearing stress distribution diagram for (1) rectangular section (2) circular section 
(3) I-section (4) T-section. 

07 

 (b) A T-section beam 100mm X 150mm X 15mm is subjected to a shear force of 10 
KN at a section. Draw the shear stress distribution curve for the T-section. Obtain 
the maximum shear stress at the section. 

07 

Q.5 (a) Draw the B .M. & S.F. diagram for the cantilever beam as shown in the figure 1. 07 
 (b) A 5 m span simply supported beam is loaded as shown in the figure (2).Draw the 

shear force and bending moment diagram. 
07 

  OR  
Q.5 (a) Explain the term slope & deflection of beam with neat sketch. 

A simply supported beam of span 6 metre is subjected to a u.d.l. over entire span. 
If the deflection at the centre of beam is not to exceed 4 mm, find the value of the 
load. Take E= 2 X 105 MPa & I = 300 X 106 mm4. 

07 

 (b) A 10 metre long rectangular simply supported beam having cross section 150mm 
X 300mm is subjected to a u.d.l. of 20 KN/m over the whole span. Find the 
maximum slope & deflection for the beam. Take E = 200 MPa. 

07 

************ 
�જુરાતી 

પ્. ૧ અ ખાલી જગ્યા �ુ ર 

૧. સ ટ્્ર�સ અને સ્ટ્ર�ન ના �ુણો�‌‌‌‌‌‌‌-------------- કહ� છે. 

૨. જો પદાથર પરથી બળ �ુર  કરવામા આવે અને બળને લીધે ઉદભવ�ુ િવ�ુપણ સ�ંુણર્ પણ �ુર 

થાય તોતે પદાથર્__________કહ�વાય છે. 

૩. પોઇઝન �ુણો�ર એ__________અને ________________નો છે. 

૪. જયાર� કોઇ એક વસ્�ુ પ એક સરખી તીવ્ર વાળા એકબી�ને પરસ્પર ર�તે લબ એવા ત્ર

સ ટ્્ર�સ લા હોય ત્યાર� ડાયર�ક્ટ સ્ અને વોલ્�ુમે�ટ્રકસ્ટ્ર�સ ના � __________કહ�વાય 

છે. 

૫. મોડ�ુલસ ઓફ ર��ડ�ટ�એ _____________ અને ____________નો �ુણો�ર છે. 

૬. નમન�ુણર્ ન આલેખમા નમન�ુણર્ �યાર� પોઝીટ માથી નેગે�ટ અથવા નેગેટ�વ માથી 

પોઝીટ�વ � �બ��ુ એ થાય એ �બ��ુ ને __________કહ�વાય છે. 

૭. સાદ� ર�તે ટ�કવેલ બીમ મા ંકતર્ન બ મહ�મ_________પર બને છે અને ______પર 

નમન �ુણર્ મહ�મ બને છ. 

૦૭ 

 બ 20 mm વ્યા વાળા અને 4.0 mt. લાબંા સ્ટ� ના સ�ળયા પર 60 kN. નો અક્ષ તાણ ભાર 

લાગે છે. લબંાઇ મા ંથતો વધારો 2.0 mm છે. તો સ ટ્્, સ ટ્્ર�ન અને  નો માપાકં શોધો. 

૦૭ 

પ્. ૨ અ િનચેના માટ� િશયર ફોસર્ અન બ�ડ�ગ મોમ�ટ ડાયાગ્ર દોરો. 

૧) એક ક�ટ��લવર બીમ ક� �નો સ્પાન‘ l ’ છે અને આખા સ્પા પર સિમવતર�ત ભાર w/unit 

run લાગે છે. 

૨) એક સાદ� ર�તે ટ�કવેલ બીમ ક� �નો સ્પાન‘ l ’ છે અને આખા સ્પા પર સિમવતર�ત ભાર 

w/unit run લાગે છે. 

૦૭ 

 બ કતર્નબ અને નમન�ુણર્ન વ્યાખ્યા આ. નમનપ�રવતર્ન �બ�� ુ િવશે આ�િત ધ્વારા સમ�. ૦૭ 

  અથવા  

 બ નમનપ્રિત બળ વ્યાખ્યા આ અને સાદા નમનની થીયર� સમ�વો. ૦૭ 

પ્. ૩ અ સમ�વો : (1) લાબંો કોલમ (૨) �ૂંકો કોલમ (૩) ક્રસ�ગ લ (૪) બકલ�ગ લોડ ૦૮ 



3/4 

 બ 5 mt. લાબંો અને બ�ે છેડ� ફ�ક્સ હો તેવા પોલા કોલમ નો �દર નો વ્યા 120 mm અને 

�ડાઇ 10 mm હોય તેવો ગોળ આડછેદ ધરાવે છે. તો �ુલર નો બકલ�ગ લોડ શોધો. E= 2.1 × 

105 N/mm2 લો. 

૦૬ 

  અથવા  

પ્. ૩ અ એક આર.સી.સી. કોલમ ક� � 400mmx400mm છે અને ત�મા 8 સળ�યા 22mm ના વ્યાસન 

�કુવામા ંઆવેલ છે.તેનાપર લાગતો સલામત અક્ષ ભાર શોધો ક� �મા મહ�મ સ ટ્્ર�સ કોન્

મા 4N/mm2છે. Es=18Ec.લેવો. 

૦૭ 

 બ એક 1.2 મીટર લાબંો પોલાદના સ�ળયાનો આડછેદ 50 મીમી X 50મીમી છે. સ�ળયા પર 200 

KN �ુ અક્ષીય તાણ લાગે છે.જો પોઇજસ ંર�િશયો 0.3 હોય તો લબંાઇ, પહોળાઇ અને 

ઘનફળમા થતો ફ�રફાર શોધો. E = 2 X 10 5 MPa. 

૦૭ 

પ્. ૪ અ એક 3.6 મીટર લાબા ંલબંચોરસ આડછેદવાળા લાકડાના પાટડા પર 5.56 kN/m નો 

સિમવતર�ત ભાર લાગે છે.જો પાટડાની �ડાઇ પહોળાઇ કરતા બમણી હોય અને મહ�મ નમન 

પ્રિત 7 MPa હોય તો પાટડાના માપ શોધો. 

૦૭ 

 બ કોલમના છેડા માટ� ની ચાર પ�ર�સ્થિત જણાવી તેની આ�િતઓ દોરો તેના માટ� ક્ર�પલ�ગ લોડ 

�તુ્રો આ. 

૦૭ 

  અથવા  

પ્. ૪ અ પાટડાના કોઇપણ આડછેદ પરના કતર્ પ્રિત માટ� �ુ �તુ્ર લ અને નીચેના આડછેદ માટ� 

ના કતર્ ડાયાગ્રામ દો. 

(1) લબ ંચોરસ (2) વ�ુર્ળાકા (3) I- સેકસન (4) T-સેકસન 

૦૭ 

 બ એક 100મીમી X 150મીમી X 15મીમી ના T-સેકસન પર 10 નો કતર્ ભાર લાગે છે. 

 T-સેકસન માટ� નો કતર્ પ્રિત િવતરણ કવર દોરો તથા મહ�મ કતર્ પ્રિતબળ �ક�મત 

શોધો. 

૦૭ 

પ્. ૫ અ આ�િત ૧ મા આપેલ ક��ટલીવર બીમ માટ� કતર્નબ તેમજ નમન�ુણર્ ન આલેખ દોરો. ૦૭ 

 બ આ�િત ૨ મા દશાર્વે ૫ m.સ્પા ના સાદા ટ�કાવાળા બીમ પર લાગતા ભારને લીધે શીયરફોસર્

તથા બ�ડ�ગ મોમેન્ આલેખ દોરો. 

૦૭ 

  અથવા  

પ્. ૫ અ પાટડાના ઢાળ અને િવચલન િવશે સમ�વો. 

એક 6 મીટર લાબા સાદ� ર�ત ેટ�કવેલ પાટડા પર સિમવતર�ત ભાર લાગે છે.પાટડા�ુ િવચલન 4 

મીમીથી વધે નહ� તે માટ� નો સિમવત�રત ભાર શોધો. E = 2 X 105 MPa અને I = 300 X 106 

mm4. 

૦૭ 

 બ એક 10 મીટર લાબંો 150 મીમી X 300મીમી ના લબંચોરસ આડછેદવાળા પાટડા પર 20 KN/m 

નો સિમવતર�ત ભાર લાગે છે. પાટડામા ંઉત્પ� થત મહ�મ ઢાળ અને િવચલન શોધો. E = 

200 MPa. 

૦૭ 
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5 kn 

 10 kN/m 

10 kn 

 2 m  
 2 m  2 m 

3 m 

30 kN/m 

5m 

20 kn 
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